Form 604

Corporations Act 2001 Section 671B

Notice of Change of Interests of Substantial Holder

To Company Name/Scheme CONNECTEAST GROUP (CEU)

ACN/ARSN 071 292 647

1. Details of Substantial Holder

Name Suncorp-Metway Limited and its Subsidiaries

ACN/ARSN (if applicable) 010 831 722

There was a change in the Interests

of the Substantial Holder on: 06/10/2009

The previous notice was given to the company on: 11/09/2009

The previous notice was dated: 09/09/2009

2. Previous & Present Voting Power

The total number of votes attached to all the voting shares in the company or voting interests in the scheme that the substantial holder or an associate had a relevant interest in when last required, and when now required, to give a substantial holding notice to the company or scheme, are as follows:

Class of Securities	Previous Notice		Present Notice	
	Person's Votes Voting Power		Person's Votes	Voting Power
Ordinary Shares	241,738,738	6.9284%	219,884,610	5.7413%

3. Changes in Relevant Interests

Particulars of each change in, or change in the nature of, a relevant interest of the substantial holder or an associate in voting securities of the company or scheme, since the substantial holder was last required to give a substantial holding notice to the company or scheme are as follows:

Date of Change	Person whose Relevant Interest Changed	Nature of Change	Consideration Given in Relation to Change	Class & Number of Securities Affected	Person's Votes Affected
Since	Suncorp Metway Investment Management Ltd	Refer Annexure 2			
Previous Notice	Tyndall Investment Management Ltd				
	New Zealand Guardian Trust Company Ltd				

4. Present Relevant Interest

Particulars of each relevant interest of the substantial holder in voting securities after the change are as follows:

Holder of Relevant Interest	Registered Holder of Securities	Persons Entitled to be Registered as Holder	Nature of Relevant Interest	Class & Number of Securities	Persons Votes
Refer to Annexures 1 & 2					

5. Changes in Association

The persons who have become associates of, ceased to be associates of, or have changed the nature of their association with, the substantial holder in relation to voting interests in the company or scheme are as follows:

Name & ACN/ARSN (if applicable)	Nature of Association
Not Applicable	

6. Addresses

The addresses of persons named in this form are as follows:

Name	Address
Refer to	Annexure 1

Signature

Print Name:	C. Chuter	Capacity:	Company Secretary
Sign Here:		Date:	08/10/2009

Annexure 1

Relevant Interest Holder	Registered Holder of Securities	Registration Details	Person's Votes
Suncorp Metway Investment Management Ltd	SUNCORP CUSTODIAN SERVICES PTY LTD (AET)	SUNCORP CUSTODIAN SERVICES PTY LTD GPO BOX 5078, SYDNEY NSW 2001	1,846,298
Suncorp Metway Investment Management Ltd	SUNCORP CUSTODIAN SERVICES PTY LTD (RSH)	SUNCORP CUSTODIAN SERVICES PTY LTD GPO BOX 5078, SYDNEY NSW 2001	14,518
Tyndall Investment Management Ltd	SUNCORP PORTFOLIO SERVICES LTD (05)	SUNCORP PORTFOLIO SERVICES LTD GPO BOX 5078 SYDNEY NSW 2001	6,066
Tyndall Investment Management Ltd	NSW BUSINESS CHAMBER LTD	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C 13200-14 NDTYAE 5 TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	2,513,609
Tyndall Investment Management Ltd	AMP CAPITAL INVESTORS	AMP CAPITAL INVESTORS LTD C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	41,507,659
Tyndall Investment Management Ltd	CATHOLIC SUPER FUND	CATHOLIC SUPER FUND C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	10,596,917
Tyndall Investment Management Ltd	NATIONAL NOMINEES LTD IOOF INVESTMENT MANAGEMENT LTD	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C IOOF INVESTMENT MANAGEMENT LTD A/C 16080-18 IMTYAE 5TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	9,416,864
Tyndall Investment Management Ltd	NATIONAL NOMINEES LTD ACF MERCER INVESTMENT NOMINEES LTD	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C MERCER INVESTMENT NOMINEES LTD A/C 11120-12 WMTYAE 5 TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	57,278,217
Tyndall Investment Management Ltd	OPTIMIX LTD	OPTIMIX LTD C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	21,558,523

Tyndall Investment	PUBLIC TRUSTEE AUSTRALIAN CAPITAL	TASMAN ASSET MANAGEMENT LIMITED A/C PUBLIC TRUSTEE AUSTRALIAN CAPITAL TERRITORY	1,067,646
Management Ltd	TERRITORY	PORTFOLIO GPO BOX 5078 SYDNEY NSW 2001	
Tyndall Investment Management Ltd	TYNDALL AUSTRALIAN SHARE WHOLESALE PORTFOLIO	TASMAN ASSET MANAGEMENT LIMITED A/C TYNDALL AUSTRALIAN SHARE WHOLESALE PORTFOLIO GPO BOX 5078 SYDNEY NSW 2001	66,025,906
Tyndall Investment Management Ltd	WORKERS COMPENSATION NOMINAL INSURER	WORKERS COMPENSATION NOMINAL INSURER C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	8,052,387

TOTAL UNITS: 219,884,610

Annexure 2

PORTFOLIO	TRADE DATE	TRADE TYPE	NET AMOUNT	UNIT PRICE	UNITS		
· OKI OLIO	DAIL	2	AMOON	THICL	Oiliis		
RAA Insurance Ltd Shareholders Fund							
RSH	06/10/2009	Sales	4608.3	0.335	13766		
AMP CAPITAI	LINVESTORS						
AMPC	18/09/2009	Sales	145700.7	0.365	400000		
AMPC	28/09/2009	Purchases	386154.17	0.335	1152699		
AMPC	05/10/2009	Purchases	-386154.17	0	-1152699		
AMPC	05/10/2009	Purchases	386154.17	0	1152699		
AMPC	06/10/2009	Sales	2282.57	0.35	6535		
AMPC	06/10/2009	Sales	609340.4	0.335	1822663		
TYNDALL AUS	STRALIAN SHAR	F WHOLFSALF	PORTFOLIO				
TASWP	28/09/2009	Purchases	1597998.58	0.335	4770145		
TASWP	05/10/2009	Sales	17309.04	0.35	49556		
TASWP	05/10/2009	Purchases	-1597998.58	0	-4770145		
TASWP	05/10/2009	Purchases	1597998.58	0	4770145		
TASWP	06/10/2009	Sales	15155.37	0.35	43390		
TASWP	06/10/2009	Sales	4540593.76	0.335	13581854		
CATHOLIC SU	PER RETIREME	NT FUND					
CSRF	28/09/2009	Purchases	258199.24	0.335	770744		
CSRF	05/10/2009	Purchases	-258199.24	0	-770744		
CSRF	05/10/2009	Purchases	258199.24	0	770744		
CSRF	06/10/2009	Sales	732426.51	0.335	2190839		
OPTIMIN							
OPTIMIX OPTI	28/00/2000	Durchasos	447079 42	0.225	1227240		
OPTI	28/09/2009 05/10/2009	Purchases Sales	447978.42 6523.2	0.335 0.35	1337249 18676		
OPTI	05/10/2009	Purchases	-447978.42	0.55	-1337249		
OPTI	05/10/2009	Purchases	447978.42	0	1337249		
OPTI	06/10/2009	Sales	4623.45	0.35	13237		
OPTI	06/10/2009	Sales	1761096.01	0.335	5267802		
1005 1511/5057	451,170						
IOOF INVESTI		Colos	25227.64	0.353	100000		
IOOF	16/09/2009	Sales	35227.64	0.353	100000		
IOOF	28/09/2009	Purchases	190890.37	0.335	569822		
IOOF	05/10/2009	Purchases	-190890.37	0	-569822		
IOOF	05/10/2009	Purchases	190890.37	0 225	569822		
IOOF	06/10/2009	Sales	712164.12	0.335	2130230		

PORTFOLIO	TRADE DATE	TRADE TYPE	NET AMOUNT	UNIT PRICE	UNITS		
MERCER INVE	MERCER INVESTMENT						
MERI	18/09/2009	Sales	218551.05	0.365	600000		
MERI	22/09/2009	Sales	571785.43	0.3581	1600000		
MERI	28/09/2009	Purchases	536633.15	0.335	1601890		
MERI	05/10/2009	Purchases	-536633.15	0	-1601890		
MERI	05/10/2009	Purchases	536633.15	0	1601890		
MERI	06/10/2009	Sales	3132.36	0.35	8968		
MERI	06/10/2009	Sales	835447.47	0.335	2498996		
NSW BUSINES	SS CHAMBER LT	.D					
ABL	28/09/2009	Purchases	57930.88	0.335	172928		
ABL	05/10/2009	Purchases	-57930.88	0	-172928		
ABL	05/10/2009	Purchases	57930.88	0	172928		
ABL	06/10/2009	Sales	181967.37	0.335	544302		
PUBLIC TRUST	TEE OF ACT						
PTACT	28/09/2009	Purchases	24648.3	0.335	73577		
PTACT	05/10/2009	Purchases	-24648.3	0	-73577		
PTACT	05/10/2009	Purchases	24648.3	0	73577		
PTACT	06/10/2009	Sales	76574.12	0.335	229049		
WORKERS CO	MPENSATION I	NOMINAL INSU	JRER				
WCNI	28/09/2009	Purchases	184566.91	0.335	550946		
WCNI	05/10/2009	Purchases	-184566.91	0	-550946		
WCNI	05/10/2009	Purchases	184566.91	0	550946		
WCNI	06/10/2009	Sales	579787.77	0.335	1734265		